
TUTORAo 

3 

ES.6 DEL 

SiANO 

(e) si 

SiA 

TEo E MA 

SiA 

O, U 

DETE LM 

Loo 

DUE 

SOM MA 

lokJo24 

(b) DETELMINAyE 

3 

Sortot e. 

NAHOTÁ 

V- 85m ), (G)}. 
(o) i STIOSe. (pi 2)VW 

GAAIMANN 

Dive TA 

VOU= W 0= R 



NEUo 

(a) CALCoAE 

(n) o $TESJ• MA 

cc) cALCoLAE 

Di 

GNA BASE 

So No 

(ALE 

NE A Di 

2-d 

2d-3 
2 

-4t3d 

le-1)x-=0 } 

TorAAE 

sEGVENTI fUNZiON 



ce) 3 

2 

y=(X,\) x)=(2x,+X2, 

2 

X-x 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

